EARAZROREIERT — 2 N—XBISY —F 202155858 (k) 3EIZKR3H

m C2=# ¥R B R
[AE£)] 1% :270,000 "  27%&:95,000H”  33%&:54,000H”  43%&:27,000H . 57&:14,000
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
R B SAE .31, WP . — 1EEME OKR)
115/ 5|/ b¥aT47x o4 B ‘(3_')1 A 1 (i?:) faARttE=
TN b B:FENXa—F— J=HYrTr—L
. . £ ZHRRER :31. —-3-4— . — BRAS (KR
207|730 FaUNHYL i A53.0 ! (341)7 AR i ° (‘Y;) AEIES
RRE—ULTA-X BAHIIA A=Y R4S
S it 6 | WIABER 1:31.9 2-2-1-3 |41.8| — 4 459 | IHAFEER (KR)
3 3| v —Y 54.0 (11/2) () | AVEIEA
o4O B AQ—-7—-32Z FRES
S 2R : -9-6- - M5 (KiR)
4 6 TIRNR2T 12 R 56.0 1('33/%4')1 5986 1 40.6 6 (4335) IME=A ’
RHTIRTAYT B FETRTE—T AT kS
. . HER :32. —4-5- . — EEE (KR)
5 9 TRONL v & 4 4 oe (11312/23) 5-4-5-4 | 41.8 8 ;1258) EETJEEWI
L:T7ROAFXLTEL B AR Iy —7 Raitie]
RSN # g | WOH— 1:32.4 7-8-6-7 |41.3| — 7 431 | HEEFE (KR)
6lgl9g|L—TKTZ> 54.0 ) 45 | RlIE=
R:TTyIRAK BeIERIRY—L4 FREHS
. BRRIE : —7-9- — BRAS (KR)
’ 4| XEUTLY YK #oo | BR 1(.13/22.>5 7-7-9-7 | 41.5 9 (5_148) L
RHLRA LT B TIA Ry R Ot
— N ARF8E : -5-7- — FEER (KR)
glglg|Fr=A>7>Va i o 54.0 (11312/47) s 418 2 (:12) IR ’
Rig4F v b B:OFF RS EANS
K # 4 | BEAXCIE 1:32.7 1=1-1-1 | 42.7| — 3 50 | ERAZS (KR)
9|11 |7z — 54.0 (2 E) () |_B) TS
RN—VITAL BiaI-> RIS
® I—F—&EBIERL
130—4— 1,3,7,8,2,5,(4,9),6
2o=3F= 1,3,7,2,8,5,4,9,6
33—7F— (1,3,5),7,2,9,8,6,4
40 —F— (1,5),3,(2,7).6,(4,8,9)
[ N5
BB 5 2108 | | 71 K 5-7 410M | | # = 5-7 710 | | 3EE 3-5-7 2,630M
# B 5 130M 85 450M B E 5-7 1,1508 EE BT=3) 9,610M
7 190M 3-7 1,490H B H 5-7 1,500
3 240

ABTICOVTRDTEEERROODE, JHB LS,




